Math122 21 January 20160

1. [2 parts, 1 point each] For each of the following functions, find f(=2).

(@) fle) =% +1 o) 2 =32 -1joj1]2]8 ]
Fleyl 51 8] 1 1074]3]976

2. [2 points| The gas mileage M of a car (in miles per gallon) is a function of the speed s of
the car (in miles per hour). Translate the statement A4(40) = 35 into English. Be sure to
include proper units. :

M @ car s at o spoed of

40 miles per hou; 1L vees gag ot
The role og 35' m.les per 3@.! on,

3. [3 points| Give the equation of the line passing through (1,5) and (4, —8) in the form y =
mz + b.
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4. [3 parts, 1 point each] Annual revenue R from a restaurant chain can be estimated by
1 = 0.4t + 5.6, where R is in billion dollars and £ is in years since January 1, 2007.

(a) What is the slope of this function? Include units and interpret the slope in English.

* Mm=0.4 billion dilles per year.
‘This means that each year, The

annUal fevenve increases by 0.4 by lkun

: (b) What annual revenue does the function predict forM Include units. dd lm
20t -

t= 4 yeors
R*(OJ‘I)*‘! +1€h = LL+Sh llron

(c) In which year is the annual revenue predicted to pass 11 billion dollars?

N=04t +5¢
$4=04t
4=4¢ |
t: I35 years (simee 2@07)
So wenve will past $U b llan
in




